DURATION: 2 %4 HOURS BZoUuosMMA MARKS: 75
NB:

e All questions are compulsory.
e Figures to the right indicate full marks.
e All questions carry equal marks.

Q.1 (a) Objective Type Questions  (Any 8) (8M)

(1) Financial accounting deals with

a) Determination of cost b) Determination ol profit

¢) Determination of prices d) Determination of supply.

(i1) Management Accountant has to

a) Collect information b) Anulyze information

c¢) Evaluate information d) All of the above.

(iii) Any amount payable within 12 months from date of Balance sheet is called

a) Capital b) Current liabilities

¢) Contingent Liabilities d) Loan

(iv) In the Balance Sheet, securities premium should be shown under

a) Share capital b) Reserve & Surplus

¢) ~ Current liabilities d) Fixed assets. " &

(v) Prepaid insurance is shownunder .

a) Current assets b) Loans and advances

¢) Current liabilities d) Sceured loans

(vi) Opening stock Rs. 20,000; Closing stock Rs. 10,000; Purchases Rs. 50,000;
Wages Rs. 3,000; Carriage Rs. 2,000. The Stock Turnover ratio is:

a) 2.33 Times b) 3.57 Times

¢) 4.33 Times d) 7 Times.

(vii) Shortage of working capital may result in

a) Poor credit worthiness b) Higher trade discount
¢) Higher cash discount d) Lesser cash discount.
(viii) Gross working capital isequal to

a) Fixed assets b) Current Assets

¢) Current liabilities d) Surplus.

(ix) Relevance theory of dividend was supported by

a) Walter b) MM

¢) Gordon d) Walter & Gordon,
(x) Guideline for issue of bonus shares arc issucd by

a) SEBI b) RBI

¢) Income Tax Act d) Company Law
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Calculate the following ratios:

A. Stock Turnover Ratio B. Operating Ratio C. Capital Gearing Ratio
D. Net Profit Before Tax Ratio  E. Gross Profit Ratio.

Q.4 (a) The following is the summarized Balance Sheet of M/s. Amba Ltd. as at 31.03.2022.

(10M)
Liabilities ~ | Amount Assets Amount
Equity Share Capital 5,00,000 Fixed Assets 7,78,000
10% Pref. Share Capital 1,00,000 [Tnvestment 3,00,000
General Reserve 3,46,700 | Other Investment 80,000
15% Debentures 1,50,000 Stock 3,58,000
Bank loan 2.20.000 Debtors 46,780
Creditors 3,32,000 Advances 49,000
Bills Payable 91,000 Cash at Bank 2,04,920
Provision for Taxation 77,000

1,816,700 1,816,700

You are required to convert the above Balance Sheet in Vertical form suitable for Financial
Analysis.

*

Q.4 (b) Following information is available relating to HCL Ltd. and TCS Litd. (M)

Particulars HCL Ltd. TCS Ltd.
Equity Share Capital ( Rs. 10 Face Value) 250 350

10% Preference Shares 100 120
Profit after Tax 60 80
Proposed Dividend 30 45
Borrowed Fund 12% Debentures 300 400
Market Price Per Share Rs. 120 Rs. 150

Calculate: a. Earning Per Share b. P/E ratio ¢. Dividend Pay-out ratio d. Debt Equity ratio
¢. Return on Equity Shares.

OR
Q.4 (a) Following are the details regarding three companies A Ltd., B Ltd., and C Ltd.:
(15M)
Particulars A Ltd. B Ltd. C Ltd.
Internal rate of return 20% 10% 15%
Cost of Equity 10% 10% 10%
Earning per share J Rs. 10 Rs. 10 Rs. 10

Calculate the value of a equity share for each of company applying Walter’s model when
dividend payout ratio (D/P ratio) is (i) 50% (ii) 60%.

Page 4




Q.5 (a) Role of Working Capital Management.
(b) Explain the importance of Management Accounting.,

-
Q.5 Write short notes (Any 3) OR

(a) Matching Concept

(b) Importance of Ratio Analysis

(¢) Window Dressing ot Current Ratio

(d) Types of Working Capital

(e) Utility of Financial Statements Analysis.
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